TR 1177 L&A ﬁj‘éﬂ > CEM0ES I 1TH (1) ~11 17H () DA Ressmnti—s57
[OUT Z7oXx| H. P| xvh | [JEfL ouT Jax ESad B IE OUT[ I N |[ZoX]| AP [ 5ok

51 46 97| 27.6| 69.4| | 76 EPJ}E EJZ— 52 40 92 19.2 72.8 | | 151 B'za\ 9%@51 46 40 86 12| 74.0

36 36 72| 24| 69.6 || 77 |[EA L& 46 46 92| 19.2| 72.8| | 152 | 45 41 86 12| 74.0

41 41 82 12| 70.0 78 |&H F 45 47 92| 19.2| 72.8| ] 153 |IuA{ER 43 43 86 12| 74.0

43 39 82 12| 700 | 79 |&EH #& 45 47 92| 19.2| 72.8| | 154 [#21l 28R 45 41 86 12| 74.0

46| 42[ 88| 18] 70.0 a1 8| 92| 19.2] 72.8| [ 155 | EiR AEBL 42| 44| 86| 12| 740

41 40 81| 10.8] 70.2 81 |z (& 48 44 92| 19.2| 72.8| ] 156 |HTF F& 45 47 92 18| 74.0

43 44 87| 16.8] 70.2 82 |1BA BBV 49 49 98| 25.2| 72.8| | 157 |M1H 2= 47 45 92 18| 74.0

53 52| 105| 34.8] 70.2| | 83 |E=WH 38 35 73 0| 73.0| | 158 |dtiE & 50 48 98 24| 74.0

44 42 86| 15.6| 70.4 84 |=FR E BB 37 36 73 0| 73.0| | 159 |Fis FA 56 48 104 30| 74.0

44 42 86| 15.6] 70.4|| 85 |&/M sFE 39 40 79 6| 73.0 60 | PuE 2 39 40 79| 4.8| 74.2

44 42 86| 15.6] 70.4 86 |5 5L 39 40 79 6| 73.0 || 161 |)AE &k 38 41 79|  4.8] 74.2

12 |5l % 46 46 92| 21.6| 70.4 87 |@FHF R 40 39 79 6] 73.0] | 162 |=% E—Hp 38 41 79|  4.8| 742
13 [#hE £k 36 37 73| 2.4 706 | 88 |MAES 43 42 85 12| 73.0] ] 163 |"Q E—ER 43 42 85| 10.8 74.2
14 E?%Ift 40 39 79| 8.4 70.6 89 |H Lt HE 42 43 85 12| 73.0 | | 164 |=i% =k 43 42 85| 10.8| 74.2
42 43 85| 14.4| 70.6 90 H 47 44 91 18| 73.0| | 165 |f&M FEK 44 41 85| 10.8| 74.2

16 %&ﬁff% 42 36 78|  7.2| 708 91 rﬁ— 44 47 91 18| 73.0 | | 166 | A4 Fg 45 46 91| 16.8| 74.2
17 |fATF HERE 45 45 90| 19.2| 70.8 92 |k & 45 46 91 18| 73.0 | | 167 |FER F5L 50 41 91| 16.8] 74.2
18 |=7% E—Hf 37 40 77 6| 71.0 93 |#AAK MERE 45 46 91 18| 73.0 168 EEE ?i"r 45 46 91| 16.8| 74.2
9 NENE 42 41 83 12| 71.0]] 94 BN & 44 47 91 18| 73.0| | 169 2&%1 48 43 91| 16.8] 74.2
0 |#A7 B 44 45 89 18| 71.0 95 | K ik 48 49 97 24| 73.0 0 5 45 46 91| 16.8| 74.2
21 | KA #ER 46 43 89 18| 71.0 96 | EPR EE5L 48 49 97 24| 73.0] | 171 nﬁﬂ %E 44 47 91| 16.8] 74.2
22 ER $ETF 53 48| 101 30| 71.0 97 |IAA 1B 45 39 84| 10.8| 73.2| | 172 |#xMH #EF 47 50 97| 22.8| 74.2
23 | =7k H—HS 36 34 70| +1.2] 71.2] | 98 |@&iE A= 41 43 84| 10.8| 73.2| | 173 3£k it 47 50 97| 22.8| 74.2
24 |80 sFB 38 44 82| 10.8| 71.2]] 99 m%;ﬁ EB 44 40 84| 10.8| 73.2| | 174 |FhL == 50 47 97| 22.8| 74.2
25 |fA[ E4R 45 43 88| 16.8] 71.2 00 | =42 47 43 90| 16.8| 73.2| | 175 |A#HT @ 48 49 97| 22.8| 74.2
26 |fp RE 41 40 81| 9.6] 71.4]| | 101 W;ﬂ— 48 42 90 16.8] 73.2| | 176 |/vbk F& 49 48 97| 22.8| 74.2
27 |FRE EF 42 39 81 9.6] 71.4| | 102 |l FIRR 47 43 90| 16.8] 73.2 177 | W5 49 48 97| 22.8| 74.2
28 |BF & 44 43 87| 15.6| 71.4| | 103 |[/NFE #5 41 49 90| 16.8| 73.2| | 178 |/ B 58 51| 109| 34.8| 74.2
29 | Bt 43 44 87| 15.6| 71.4| | 104 |EPE FEs 47 43 90| 16.8| 73.2| | 179 &4: IE% 43 35 78|  3.6| 74.4
0 7 7% 47 46 93| 21.6| 71.4| | 105 |[BEA Bk 47 49 96| 22.8| 73.2 80! |% 42 42 84| 9.6| 74.4
31 |ILAE & 52 47 99| 27.6| 71.4| | 106 [KMHIE 3 46 50 96| 22.8| 73.2| | 181 EBEP Hz 46 38 84| 9.6| 74.4
32 |55 Ut 39 41 80| 8.4 71.6| | 107 |[#EE K 43 34 77| 3.6] 73.4| | 182 |EH BT 42 42 84| 9.6| 74.4
33 |@ELE st 48 38 86| 14.4| 71.6| | 108 |BH & 41 36 77| 3.6| 73.4| ] 183 [N\AK 43 47 90| 15.6| 74.4
34 |FHE 43 43 86| 14.4| 71.6| [ 109 |HF B 40 43 83 9.6| 73.4| | 184 [l JE— 45 45 90| 15.6| 74.4
35 |1 B 49 43 92| 20.4| 71.6 | (BN EIZEISES 43 40 83 9.6| 73.4| [ 185 [fEk tE 46 44 90| 15.6| 74.4
36 |BET & 43 49 92| 20.4] 71.6| [BERNEE eSS 44 39 83| 9.6| 73.4| | 186 |)Ilitr B— 44 46 90| 15.6| 74.4
37 |BERER 41 38 79| 72| 718|112 |[HEE 43 40 83| 9.6| 73.4| | 187 |iHA &2 47 49 96| 21.6| 74.4
38 |5FE ffET 41 38 79| 72| 71.8| | 113 [ B 41 42 83|  9.6| 73.4| | 188 [/ ek 44 52 96| 21.6| 74.4
39 |dtiE Sk 45 46 91| 19.2| 71.8] | 114 |&HB M 41 42 83| 9.6] 73.4| | 189 [ 21T 51 45 96| 21.6| 74.4
40 |E9m Fns 47 44 91| 19.2| 71.8] | 115 |[BER AFE 40 43 83| 9.6|] 73.4 00 | A AR 48 48 96| 21.6| 74.4
41 |k #EiF 51 52| 103 31.2| 71.8| | 116 |f5] = 40 43 83| 9.6| 73.4| | 191 |EED B1T 51 51| 102| 27.6] 74.4
42 [SEHE AERE 40 38 78 6| 72.0 | | 117 |#aZ FlEE 45 44 89| 15.6| 73.4| | 192 |©EH R 40 37 77| 2.4| 74.6
43 |AAK EE 45 39 84 12| 72.0] | 118 |®ME E— 47 48 95| 21.6| 73.4| | 193 |&0 E—ER 40 37 77| 2.4 74.6
44 | E 42 42 84 12| 72.0 || 119 |#M 47 48 95| 21.6| 73.4| | 194 |fEA EE 43 40 83| 8.4| 74.6
45 |{eRE 3] a1 84 12| 720 48| s3] 101 27.6| 73.4| 195 [ BAT 44| 39| 83| 84| 748
46 |EB FE 44 40 84 12| 72.0 | | 121 [®)I] BF] 50 51| 101 27.6| 73.4| | 196 |fEM BH= 47 42 89| 14.4| 74.6
47 |f&H FlEK 47 43 90 18| 72.0| | 122 | m &R 46 42 88| 14.4| 73.6| | 197 [iak FUKE 43 46 89| 14.4| 74.6
48 |BM & 49 47 96 24| 72.0| | 123 |Ai)II Sk 46 42 88| 14.4| 73.6| | 198 |fBA £ 43 46 89| 14.4| 74.6
49 KA iz 50 46 96 241 72.0 124 |91 #&AN 44 44 88| 14.4| 73.6 199 |1 217 43 46 89| 14.4| 74.6
0 2z —F 50 46 96 24| 72.0 | | 125 |HEm #4T 50 44 94| 20.4| 73.6 00 | &t i 44 45 89| 14.4| 74.6
51 |HE HE 45 38 83| 10.8| 72.2| | 126 |#£A Fih 47 47 94| 20.4| 73.6| | 201 |#n zt:E(ﬂ\ 43 52 95| 20.4| 74.6
52 | K% &— 40 43 83| 10.8| 72.2| | 127 |k HBR 48 46 94| 20.4| 73.6| | 202 |#EE AR 48 47 95| 20.4| 74.6
53 | AA R 47 48 95| 22.8| 72.2| | 128 |Fk% X 50 50| 100 26.4| 73.6| | 203 |50 21T 50 45 95| 20.4| 74.6
54 |=7F BE—ER 39 37 76| 3.6| 72.4| ] 129 |#AK EE 39 36 75| 12| 73.8| | 204 |FEt Fnse 49 46 95| 20.4| 74.6
55 |mtE % 41 a1| 88| 15.6] 724 39| 36| 75| 12| 738 | 205 [ mmiams 50| 45| 95| 20.4 746
56 |A0 E—ER 48 40 88| 15.6| 72.4| | 131 |=% E—EF 42 39 81| 7.2| 73.8| | 206 |=% 5 45 50 95| 20.4| 74.6
57 |d)I| 208 46 42 88| 15.6| 72.4| | 132 |=%& rekst 38 43 81| 7.2| 73.8| ] 207 |=@ Bk 58 55| 113 38.4| 74.6
58 |H— IEfN 45 43 88| 15.6| 72.4| | 133 |{£fE £ 37 44 81| 7.2| 73.8| | 208 |=P FfE 39 43 82| 7.2| 74.8
59 | 7%!% 46 42 88| 15.6| 72.4| | 134 |Bi = 39 42 81| 7.2| 73.8] | 209 /iR BEE 42 40 82 7.2| 74.8
60 41 47 88| 15.6| 72.4| | 135 |&EME Tt 39 42 81| 7.2| 73.8 0 [ £ 40 42 82| 7.2| 74.8
61 |ER /A% 38 37 75| 2.4 72.6| | 136 |1@H & 49 38 87| 13.2| 73.8| | 211 |[#EEE B 40 42 82| 7.2| 748
62 |5 Uk 41 40 81| 8.4 72.6| | 137 |sE#k fEkE 46 41 87| 13.2| 73.8 | 212 |H&iE Fl=E 42 40 82| 7.2| 74.8
63 |JEi fEHE 40 41 81| 8.4 72.6]] 138 [/hE &= 45 42 87| 13.2| 73.8| ] 213 [ K= 43 51 94| 19.2| 74.8
64 |f@E FEK 45 36 81| 8.4| 72.6| | 139 |k & 43 44 87| 13.2| 73.8| | 214 |XFn =i 46 48 94| 19.2| 74.8
65 |tE4< EF 44 37 81| 8.4 72.6 40 |ER R 43 44 87| 13.2| 73.8| | 215 |[#AAk kR 47 47 94| 19.2| 74.8
66 | b4z #HR 40 47 87| 14.4| 72.6 || 141 |d8E 5 47 46 93| 19.2| 73.8] | 216 |HH RE 51 49| 100| 25.2| 74.8
67 |TELL Al 48 45 93| 20.4| 72.6| | 142 |'FE EEZ 46 47 93| 19.2| 73.8| | 217 |{EM 53 53| 106 31.2| 74.8
68 |ERER HEhE 43 37 80| 7.2| 72.8| | 143 |FHW BEX 47 46 93| 19.2| 73.8| | 218 |BZ 57 49| 106| 31.2| 74.8
69 |ZH 5 40 40 80| 7.2| 72.8| | 144 |{kRE 44 49 93| 19.2| 73.8 NG 42 39 81 6| 75.0
0 | el 40 40 go| 7.2| 72.8| | 145 |[tFH mE 53 46 99| 25.2| 73.8 ) 38 43 81 6| 75.0
71 |EH EE 38 42 80| 7.2| 72.8] | 146 [FFE H= 48 51 99| 25.2| 73.8 39 42 81 6| 75.0
72 |&iE FlE 46 40 86| 13.2| 72.8| | 147 [db3E /% 57 48] 105| 31.2] 73.8 38 43 81 6| 75.0
73 |BXBR S 42 44 86| 13.2| 72.8| | 148 |BiF =k 38 42 80 6| 74.0 HEER 41 40 81 6| 75.0
74 | $H 45 41 86| 13.2| 72.8] ] 149 |BER & 40 40 80 6| 74.0 | | 224 |2l 36H 42 45 87 12| 75.0
75 |80 5B 44 4] 86| 13.2] 728 42| 44| 8e| 12] 740] [225 & F 42| 45| s7[ 12| 75.0
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JEfr] K & ouT Jox[ H. P | xob | [MEAL ouT JaA e R IE OUT[ I N [Zux[H.P [ %yt
226 |AH F 46 41 87 12| 75.0| | 301 WIJ-I n:ﬁ 44 45 89 132 75.8 | | 376 ﬂf$ JX‘E 49 49 98| 21.6| 76.4
227 |1 iz 45 42 87 12| 75.0 | | 302 |7 ®GA 43 46 89| 13.2| 75.8| | 377 |1Lr Faz 51 47 98| 21.6| 76.4
228 [1LiA & 44 43 87 12| 75.0 | 303 |#2R BT 48 41 89| 13.2| 75.8| | 378 | m Bz 52 46 98| 21.6| 76.4
229 |&H & 46 41 87 12| 75.0] ] 304 |5 & 44 45 89| 13.2| 75.8| | 379 |23 B3L 50 48 98| 21.6| 76.4

0 |='m ek 44 43 87 12| 75.0| | 305 |t F— 43 46 89| 13.2| 75.8 80! |[#erdy i 49 49 98| 21.6| 76.4
231 |&#E 821 41 46 87 12| 75.0| | 306 |/)~Hk BLBA 51 44 95| 19.2| 75.8| | 381 |£MH =tk 47 51 98| 21.6| 76.4
232 |4 E=FI 44 43 87 12| 75.0 | | 307 |FRiE 5L 49 46 95| 19.2| 75.8 | | 382 |FEi® BiF 56 48| 104 27.6| 76.4
233 |&i% BB 53 40 93 18] 75.0| | 308 | &4k EE 47 48 95| 19.2| 75.8 | | 383 |§EA Hft 53 51| 104 27.6] 76.4
234 | i EH 47| 46| 93 18| 75.0 | | 309 |GHiE B 51| 44| 95| 19.2| 75.8| | 384 | P& 1KIE 54| 50| 104| 27.6] 76.4
235 |49 55 48| 45 93 18| 75.0 | | 310 |4EH =tk 52| 49| 101 25.2] 75.8| | 385 "0 B 59| 51| 110| 33.6| 76.4
236 |4FH B4 45 48 93 18| 75.0| | 311 |&dh 75 55 52| 107| 31.2| 75.8| | 386 |MA = 54 56| 110| 33.6] 76.4
237 |iEE B= 46 47 93 18| 75.0 | | 312 |y & 40 36 76 0| 76.0| | 387 |3t GE 38 41 79| 2.4 76.6
238 |'& R EE 50 49 99 24| 75.0 | | 313 [&i% Ui 43 39 82 6| 76.0 | | 388 |t &kpuER 43 42 85| 8.4] 76.6
239 |dbiE 7% 49 50 99 24| 75.0| | 314 |51 ¥ 5 42 40 82 6| 76.0|] 389 |EH &E 45 40 85| 8.4| 76.6
40 |FEH 54 51| 105 30| 75.0 | | 315 |[#BA AB 38 44 82 6| 76.0| | 390 |F[@ %= 45 46 91| 14.4| 76.6
241 | 4 fngg 51 54| 105 30| 75.0 | | 316 |IAJR BAT 44 44 88 12| 76.0] | 391 |50 E—ER 43 48 91| 14.4| 76.6
242 |[AA ke 54 51| 105 30 75.0 | | 317 |#%FE & 42 46 88 12| 76.0| | 392 |FJRE Fi— 44 47 91| 14.4| 76.6
243 |F ik rEst 59 52| 111 36| 75.0| | 318 |dbAT EFN 46 42 88 12| 76.0 | | 393 |&#E 15 47 44 91| 14.4| 76.6
244 |4 L 51 60| 111 36| 75.0 | | 319 | =i ~Ef$ 49 45 94 18] 76.0| | 394 [BH & 48 43 91| 14.4| 76.6
245 |14 A5 41 39 80| 4.8| 75.2 02248 T B 47 47 94 18| 76.0] ] 395 |=TF & 49 42 01| 14.4| 76.6
246 |PIE £ 39 41 80| 4.8] 75.2| | 321 |iEAK = 45 49 94 18| 76.0 | | 396 |fHE £ 47 44 91| 14.4| 76.6
247 | BB TR 43 37 80 48| 75.2 | | 322 |IRE misdt 47 47 94 18| 76.0 | | 397 |&HA B2 49 48 97| 20.4| 76.6
248 |{@H R 40 40 80| 4.8| 75.2| | 323 | A% FakE 48 46 94 18| 76.0 | | 398 |55 #hi= 51 46 97| 20.4| 76.6
249 | FFT f;da 45 41 86| 10.8| 75.2| | 324 |k =H 47 47 94 18| 76.0] | 399 /Jffk?v”ﬁ 48 49 97| 20.4| 76.6

0 = 42 44 86| 10.8| 75.2| | 325 |#EE BRI 50 44 94 18| 76.0 | FZUN & 42 55 97| 20.4| 76.6
251 #iEEEﬂ 45 41 86| 10.8| 75.2| | 326 |HF pk— 46 48 94 18| 76.0| | 401 .%EH H0F 53 50| 103| 26.4| 76.6
252 |EE —B 44 42 86| 10.8] 75.2| | 327 |RR #EEET 53 47| 100 24| 76.0 | | 402 | Em E 52 51| 103| 26.4| 76.6
253 |¥FM EEE 42 44 86| 10.8| 75.2| | 328 |BH £ 50 50| 100 24| 76.0 | | 403 |SFE &nfEF 48 42 90| 13.2| 76.8
254 |1 203 42 44 86| 10.8] 75.2 | | 329 |AJR EhE 52 48| 100 24| 76.0 | | 404 |57 B 45 45 90| 13.2| 76.8
255 |14 Brig 49 43 92| 16.8| 75.2| | 330 |TE o 53 47| 100 24| 76.0 | | 405 [P 3 46 50 96| 19.2| 76.8
256 |13 B1E 50 42 92| 16.8] 75.2| | 331 |[fAH fB— 48 52| 100 24| 76.0 | | 406 |FEE Flnk 51 45 96| 19.2| 76.8
257 [#AA 15 45 47 92| 16.8] 75.2| | 332 |dbiE % 54 46| 100 24| 76.0 | | 407 [Hm 84T 49 47 96| 19.2| 76.8
258 |&17)1| £k 46 46 92| 16.8| 75.2 U5 A 55 51| 106 30| 76.0 | | 408 |[ELig 03 44 52 96| 19.2| 76.8
259 |4t $i= 48 44 92| 16.8] 75.2| | 334 |'EA WKER 42 39 81| 4.8 76.2| | 409 |#h4 i 53 49| 102 25.2| 76.8
60 |FEIR &S 48 44 92| 16.8] 75.2| | 335 |& 0 5FH 41 40 81| 4.8| 76.2| | 410 |FHA #i= 51 51| 102| 25.2| 76.8
261 |#25F L84 48 50 98| 22.8| 75.2| | 336 |[FEA 42 39 81| 4.8| 76.2| | 411 |REHRS & 56 52| 108 31.2| 76.8
262 |Zg8 #E 44 54 98| 22.8| 75.2| | 337 |IaAk EEE 44 37 81| 4.8| 76.2| | 412 |[#&A FEik 56 52| 108| 31.2| 76.8
263 |f&4 =M 55 49] 104| 288 75.2| | 338 |&p 5FH 48 39 87| 10.8| 76.2 | | 413 |EEF &7 53 55| 108| 31.2| 76.8
264 |FKIKE 50 54| 104 28.8] 75.2| | 339 | & 47 40 87| 10.8| 76.2| | 414 |& T =i 40 43 83 6| 77.0
265 | K78 Bi— 53 57| 110| 34.8] 75.2 40 |BEH FEfR 46 41 87| 10.8| 76.2 | | 415 |{@A EF 46 43 89 12| 77.0
266 |20 5FH 45 40 85| 9.6| 75.4| 341 |BHE 41 46 87| 10.8| 76.2 | | 416 |¥E &5 43 46 89 12| 77.0
267 |@H [ 45 40 85 9.6| 75.4 342 |E=15 FE 39 48 87| 10.8| 76.2 417 |/h#k BLEA 53 42 95 18| 77.0
268 |[RA #EH 46 39 85| 9.6| 75.4| | 343 [ —F 43 44 87| 10.8| 76.2| | 418 [4R BE 50 45 95 18| 77.0
269 |# E B E 42 43 85| 9.6| 75.4| | 344 |FEA 4 47 40 87| 10.8| 76.2 | | 419 |AK BiiE 46 49 95 18| 177.0
0 | HE 44 41 85 9.6| 75.4 345 |/)vFR BABA 50 43 93| 16.8| 76.2 420 |FHEE B 49 46 95 18| 77.0
271 |Fi A i 44 47 91| 15.6| 75.4| | 346 |[ILF & 46 47 93| 16.8| 76.2| | 421 [dL = 48 47 95 18| 77.0
272 3L HHh 48 43 91| 15.6| 75.4| | 347 |BA EE 47 46 93| 16.8| 76.2 | | 422 |k {E 47 48 95 18| 77.0
273 | B THER 3k 46 45 91| 15.6| 75.4| | 348 R E@ 48 45 93| 16.8] 76.2| | 423 |2 M EE 47 48 95 18] 77.0
274 |#1L & 47 44 91| 15.6| 75.4| | 349 [l B— 48 45 93| 16.8| 76.2| | 424 |hEF E K 48 53] 101 24| 77.0
275 |FRkA 3t 44 47 91| 15.6| 75.4 0 |17 18 45 48 93| 16.8] 76.2| | 425 [FA #E= 50 51| 101 24| 177.0
276 |8 55— 47 44 91| 15.6| 75.4| | 351 |[fAK {& 48 45 03| 16.8| 76.2| | 426 | K AKIE 53 48| 101 24| 77.0
277 |iiE —Fl 47 50 97| 21.6] 75.4| | 352 [E)I 49 44 93| 16.8| 76.2 | | 427 |Riy B 54 53| 107 30[ 77.0
278 |BEA TaE 47 50 97| 21.6| 75.4| | 353 |#EHE E— 50 43 93| 16.8| 76.2| | 428 [{FH FnE 53 54| 107 30| 77.0
279 | & W #— 48 49 97| 21.6| 75.4 354 |FER FIHE 48 45 93| 16.8] 76.2 429 |FER X% 50 57 107 30| 77.0
80 &5 52 51 103 27.6] 75.4| | 355 |32 fETARR 44 49 93| 16.8| 76.2 | | 430 K & 56 57| 113 36| 77.0
281 | H fuZ 46 571 103 27.6| 75.4| | 356 |FER FEJ\BR 53 46 99| 22.8| 76.2| | 431 |&Q 5FH 39 43 82| 4.8| 77.2
282 |7k FE 54 55| 109 33.6| 75.4| | 357 |4 Akdsf 53 46 99| 22.8| 76.2| | 432 |2 T EAER 49 39 88| 10.8| 77.2
283 |[IAA EE 42 36 78| 2.4 75.6| ] 358 |IUTF 3t— 49 50 99| 22.8| 76.2| | 433 |EEK Hih 45 43 88| 10.8| 77.2
284 |IAA IEE 45 39 84| 8.4 75.6| | 359 |FER F3L 44 55 99| 22.8| 76.2| | 434 |=P FfE 43 45 88| 10.8| 77.2
285 |f@A mE 41 43 84| 8.4 75.6 60 |4 H 50 49 99| 22.8| 76.2| | 435 |[EWJII EHR 48 40 88| 10.8] 77.2
286 [1EA AF 44 40 84| 8.4 75.6| | 361 |FA ’r@% 58 47| 105| 28.8| 76.2| | 436 |fEFE K2 51 43 94| 16.8| 77.2
287 |FH E & 40 44 84| 8.4| 756|362 |5H &x 54 51| 105| 28.8| 76.2| | 437 |#EF 5.4 48 46 94| 16.8| 77.2
288 | &1 Fl= 52 38 90| 14.4] 75.6| | 363 |KkifE EiE 55 50| 105\ 28.8| 76.2| | 438 |IAA 15 48 46 04| 16.8] 77.2
289 |[f&FH & 47 43 90| 14.4| 75.6| | 364 [f&H IEX 57 54| 111| 34.8] 76.2 | | 439 |14E & 49 45 94| 16.8| 77.2
90 |5 R 45 45 90| 14.4| 75.6| | 365 |=1E Fil=E 42 38 80| 3.6| 76.4| REEINbI#; 51 49| 100 22.8] 77.2
291 | A Ef 51 45 96| 20.4| 75.6| | 366 |IAA BE 45 41 86| 9.6| 76.4| | 441 |fEE % 52 48| 100| 22.8] 77.2
292 [ B 50 46 96| 20.4| 75.6| | 367 [A£E EH 44 42 86| 9.6| 76.4| | 442 |/ kst 54 46| 100| 22.8| 77.2
293 |A1R BB 48 48 96| 20.4| 75.6| | 368 |(FEE &= 44 42 86| 9.6| 76.4| | 443 |FEIR Hist 49 51| 100| 22.8| 77.2
294 | B K 46 50 96| 20.4| 75.6| | 369 |l W= 46 46 92| 15.6| 76.4 | REYUNEZZNEST 50 50 100| 22.8| 77.2
295 |7 M k& 49 47 96| 20.4| 75.6| | 370 [fnE & 43 49 92| 15.6| 76.4| | 445 |¥FE BH 54 46| 100| 22.8] 77.2
296 |Eif B 41 36 771 1.2 75.8| | 371 |¥ED 1T 45 47 92| 15.6| 76.4| | 446 | KWF {4 51 49 100| 22.8] 77.2
297 |BEN & 43 40 83| 7.2| 75.8 || 372 |[ERLL BB 45 47 92| 15.6| 76.4| | 447 |¥FE fnE 52 54| 106| 28.8| 77.2
208 [BH & 40 43 83| 7.2| 75.8| | 373 |iBA EE 47 45 92| 15.6| 76.4| | 448 |{PE RKE 53 53| 106 28.8| 77.2
299 |&H §~ 46 37 83| 7.2| 75.8| | 374 |IEAK HEE 49 43 92| 15.6| 76.4| | 449 [[MRAR FE 58 54| 112| 34.8| 77.2
00 |HJE # 49 40 89| 13.2| 75.8| | 375 |HFE B 46 46 92| 15.6| 76.4 | PEENEAEE = 45 42 87| 9.6| 77.4

K%"LT—/V[OUT 13457 8] [IN 10 11 12 14 16 18]
BEE k] WARUTHR ~r74 = Avvba vy B



a0t my oy~ ERFEIA D crmsossan D ~vara (g  REEEERA 55T
K4 I N H.P N P K 4

JERL ouT JaA b | PEAL K4 OUT]| I ZaA| H. Fob | [NELL OUT| I N |ZBA| H. P | xvb
451 |AF BZ 41 46 g7| 9.6] 77.4| 526 |2 EA 52 49| 101| 22.8] 78.2| | 601 [ —F 49 52| 101| 21.6] 79.4
452 | =7% JE#t 42 45 87| 9.6| 77.4| | 527 |[&fE T 49 521 101 22.8] 78.2| | 602 |(iA Fig 56 51 107] 27.6] 79.4
453 |fAK EE 46 41 87| 9.6| 77.4| | 528 |HME EZ 51 50 101| 22.8| 78.2| | 603 |EE R 57 56| 113 33.6] 79.4
454 | B (& 43 44 g7 9.6| 77.4| | 529 |EiE Eik 55 46| 101| 22.8| 78.2| | 604 |k FuEE 52 42 94| 14.4| 79.6
455 [JLA & 49 44 93| 15.6| 77.4| | 530 |BH & 50 51| 101 22.8| 78.2| | 605 [AmH =tk 46 48 04| 14.4| 79.6
456 |#m 2% 47 46 o3[ 15.6] 77.4]] 531 |®)I £ 48 53| 101] 22.8| 78.2| | 606 |=P FifE 47 47 94| 14.4| 79.6
457 |IAE BAT 49 44 93| 15.6] 77.4| | 532 [HEAE 56 51| 107 28.8] 78.2| | 607 [KFn EiE 51 43 94| 14.4| 79.6
458 [#HN FRIE 47 46 93| 15.6| 77.4| | 533 |BEA EBA 51 56| 107| 28.8| 78.2| | 608 |FEM EH 55 45| 100| 20.4| 79.6
459 | EBR EE5A 54 45 99| 21.8] 77.4| | 534 |Frk HBW 57 56| 113| 34.8| 78.2| | 609 |/hE /A 52 48| 100| 20.4| 79.6
460 | E =5 52 47 99| 21.6| 77.4| | 535 | T &R 59 54| 113 34.8| 78.2| | 610 | E 52 54|  106] 26.4] 79.6
461 |ARZ FF 51 48 99| 21.6| 77.4| | 536 [BH & 43 45 88| 9.6] 78.4| | 611 |Bail R 50 56| 106| 26.4| 79.6
462 |HEA BRAT 49 50 99| 21.6| 77.4| | 537 |4mi REHE 41 47 88| 9.6| 78.4| | 612 | TTH FEE 54 52| 106 26.4| 79.6
463 |HhE &£FH 50 49 99| 21.6| 77.4| | 538 |FEE EE 49 45 94| 15.6| 78.4| | 613 |FiLRE 51 61| 112 32.4| 79.6
464 |FEME A 47 52 99| 21.6| 77.4| | 539 [®3 E/\ER 48 46 94| 15.6| 78.4| | 614 |RF BIA 55 63| 118 38.4| 79.6
465 |l iEE 46 53 99| 21.6| 77.4 10) | EEE = 46 48 94| 15.6| 78.4| | 615 |FEk & 46 47 93| 13.2| 79.8
466 |Jbit /B 55 50 105| 27.6| 77.4| | 541 |EF4R B 46 48 94| 15.6| 78.4| | 616 |#E FEH 47 46 93| 13.2| 79.8
467 |HE% [5H— 51 54| 105| 27.6] 77.4| | 542 /B J\BR 54 46| 100| 21.6| 78.4| | 617 [IAF BKAR 48 45 93| 13.2| 79.8
468 |RiTE 55 56/ 111 33.6| 77.4| | 543 |®)I £F 49 51| 100| 21.6| 78.4]| | 618 |EiH e 50 49 99| 19.2| 79.8
469 |f&H X 62 55/ 117| 39.6] 77.4| | 544 |AF = 51 49| 100| 21.6| 78.4| | 619 |FLil Ffd 53 46 99| 19.2| 79.8
470 |@if FsE 41 39 80| 2.4| 77.6] | 545 [lLE FE 46 54| 100| 21.6| 78.4 | (AL ; 51 48 99| 19.2| 79.8
471 |45 fEE 42 44 86| 8.4| 77.6| | 546 |3 BT 53 53| 106 27.6| 78.4| | 621 |BH XE 53 52| 105| 25.2| 79.8
472 |ET B 45 41 86| 8.4| 77.6| | 547 |EA BfK 57 55| 112| 33.6| 78.4| | 622 | T4t FnE 52 53]  105| 25.2] 79.8
473 |fEHE i 46 46 92| 14.4| 77.6| | 548 |BFE & 49 44 93| 14.4| 78.6| | 623 =PI E=RS 54 57 111 31.2] 79.8
474 | A% B A 46 46 92| 14.4| 77.6| | 549 [IaK 1F 48 45 93| 14.4| 78.6| | 624 |50 B1T 47 45 92 12| 80.0
475 R E 47 45 92| 14.4| 77.6 0! |h=R FHE 48 45 93| 14.4| 78.6 | | 625 |EKT FiE 50 42 92 12| 80.0
476 |INR BT 46 46 92| 14.4] 77.6| | 551 [tEH & 44 49 93| 14.4| 78.6| | 626 |}RIL FB 48 50 98 18] 80.0
477 {ogE Bh— 46 46 92| 14.4| 77.6| | 552 |Fuil Fnkd 50 49 99| 20.4| 78.6| | 627 |k% X 49 49 98 18] 80.0
478 |Fm %03 45 47 92| 14.4| 77.6| | 553 |ELE & 50 49 99| 20.4| 78.6| | 628 |[KEF 48 50 98 18| 80.0
479 | FE— 46 46 02| 14.4| 77.6| | 554 |#& tEF 50 49 99| 20.4| 78.6 | | 629 |FriE St 51 47 98 18| 80.0
480 | SHEPE (& 46 46 92| 14.4| 77.6 IR B 47 52 99| 20.4| 78.6| | 630 |FER EE 49 49 98 18 80.0
481 |T4E (& 48 50 o8| 20.4| 77.6| | 556 |FEE EE 53 52| 105 26.4| 78.6| | 631 |4 B— 57 53| 110 30| 80.0
482 &M EbF 50 48 o8| 20.4| 77.6| | 557 |iED FEZ 50 55| 105 26.4| 78.6| | 632 |FLiL Fofd 48 49 97| 16.8] 80.2
483 |4 W Eh 50 48 98| 20.4| 77.6| | 558 [$FA BAT 52 53| 105| 26.4| 78.6| | 633 |} E FHE 48 49 97| 16.8| 80.2
484 |/NG AW 46 52 98| 20.4| 77.6| | 559 |[FA FK— 59 52| 111] 32.4| 78.6| | 634 |/ BBk 46 51 97| 16.8| 80.2
485 |/INHk BLEA 47 51 98| 20.4| 77.6 60| B A4 58 59 117| 38.4| 78.6| | 635 |EAT 1A 56 47| 103| 22.8| 80.2
486 [Pl BF 54 50| 104| 26.4| 77.6| | 561 |HKIE H— 46 46 92| 13.2| 78.8| | 636 |FEKS E(E 54 55| 109 28.8| 80.2
487 |1 B 54 50 104 26.4| 77.6] | 562 |FnM@ XFH 46 46 92| 13.2| 78.8| | 637 |[F [ #E 62 53| 115 34.8| 80.2
488 |FEME 95 58 52  110] 32.4| 77.6| | 563 |/ EE 45 47 92| 13.2| 78.8| | 638 |AR KE 51 64| 115| 34.8| 80.2
489 [ & 58 52 110] 32.4| 77.6] | 564 |Ful Fkd 49 49 98| 19.2| 78.8| | 639 |/NR #— 52 44 96 15.6| 80.4
490 | 237 Fndl 46 45 91| 13.2] 77.8| | 565 |[KZ EHI 54 50| 104 25.2| 78.8 | [NEUNFEEEEE 54 48| 102| 21.6] 80.4
491 [EH T 47 44 91| 13.2| 77.8) | 566 |[FAE Buif 58 52| 110] 31.2| 78.8| | 641 | &Il FEZ 51 57| 108| 27.6| 80.4
492 |ZRH FER] 43 48 91| 13.2| 77.8| | 567 |FEME f¥E 61 49| 110| 31.2| 78.8| | 642 |5 EF 52 43 95| 14.4| 80.6
493 |d1)1| 2RE 47 50 97| 19.2| 77.8| | 568 |EF thEE 57 53| 110| 31.2| 78.8| | 643 |EEH HEL 53 42 95| 14.4| 80.6
494 | &1 i3 53 44 97| 19.2| 77.8] | 569 |l &nF 55 61| 116| 37.2| 78.8| | 644 |[EE 5L 48 47 95| 14.4| 80.6
495 |FEAR 1RE 51 46 97| 19.2| 77.8| | 570 [/ S 47 44 91 12| 79.0| | 645 |EA fi— 49 52| 101 20.4| 80.6
496 |7k FH EEHE 49 48 97| 19.2| 778|571 |BHE BE 48 43 91 12| 79.0| | 646 |&H 5 52 55| 107| 26.4| 80.6
497 |IAK (& 49 48 97| 19.2| 77.8| | 572 |REW® 46 45 91 12| 79.0 | | 647 |FEF &2 F 48 59 107| 26.4| 80.6
498 A Todl 50 47 97| 19.2| 77.8] | 573 [#hEH F— 51 46 97 18| 79.0| | 648 |)IliF HF 57 56| 113 32.4| 80.6
499 |Gtk AL 47 50 o7| 19.2| 77.8]| | 574 |BE XE 49 48 97 18| 79.0 | | 649 |E1T HEX 57 56| 113| 32.4| 80.6
00 | =5 SLHE 50 47 97| 19.2] 77.8| | 575 [iTE EE 45 52 97 18] 79.0 | PG 53 60| 113| 32.4| 80.6
501 | B 53 so| 103] 25.2| 77.8| | 576 [FEM MAEF 54 49 103 24| 79.0| | 651 |Ju& IEHE 53 53| 106| 25.2| 80.8
502 |KEE & 53 50| 103 25.2| 77.8] | 577 |[#AA SFER 53 50| 103 24 79.0 | | 652 |#EH Fi& 52 54| 106| 25.2| 80.8
503 |HBE JTA 58 571 115 37.2| 77.8| | 578 [EE & 48 55| 103 24| 79.0| | 653 | LB EZ 50 56| 106| 25.2| 80.8
504 |183F ¥ 56 59| 115| 37.2] 77.8] | 579 |FEE R— 53 50| 103 24| 79.0| | 654 |JIIR 5T 57 49[ 106| 25.2| 80.8
505 |EiE FlE 41 43 84 6| 78.0 80! |P 54 55| 109 30| 79.0| | 655 |&iF #= 52 54| 106| 25.2| 80.8
506 |4 BUE 50 46 96 18| 78.0] | 581 | B IEER 55 54| 109 30| 79.0| | 656 |A9%5 EERE 56 56| 112| 31.2| 80.8
507 |20 %A 48 48 96 18| 78.0 | | 582 |iES Attt 55 54| 109 30| 79.0| | 657 | EEF Fnth 61 51| 112| 31.2| 80.8
508 |5F& #i— 44 52 9 18] 78.0] | 583 |WEE R 49 41 90| 10.8| 79.2| | 658 | FlEK 62 56| 118| 37.2| 80.8
509 |# muts! 48 48 96 18| 78.0 | | 584 |{EjE & 40 50 90| 10.8| 79.2| | 659 58 60| 118| 37.2| 80.8
510 |HKiF SE— 47 49 96 18| 78.0| | 585 | EH 54 42 96| 16.8| 79.2 | [N 49 50 99 18| 81.0
511 [/vbk 52 50| 102 24| 78.0 | | 586 |HnF9 EiEA 50 46 96| 16.8| 79.2] | 661 50 49 99 18| 81.0
512 | AR i 56 52| 108 30| 78.0| | 587 | —F 50 46 96| 16.8| 79.2| | 662 |k BT 52 53| 105 24| 81.0
513 [fE B 58 50| 108 30| 78.0| | 588 |ZEH Fak 53 49| 102| 22.8] 79.2| | 663 |[FA BF] 52 53] 105 24| 81.0
514 |HEi% BEE 57 51| 108 30| 78.0| | 589 | H &% 51 51| 102| 22.8| 79.2| | 664 |{EK BT 56 55| 111 30| 81.0
515 |B2E % 56 52| 108 30| 78.0 | | 590 [FRE &Y 54 54 108 28.8] 79.2| | 665 |lLin AL 62 55| 117 36| 81.0
516 |FER EE 43 46 89| 10.8] 78.2] | 591 |88k BF 64 50| 114 34.8] 79.2 | WEHINEIZRE 52 52| 104| 22.8| 81.2
517 HLE HE 48 41 89| 10.8] 78.2| | 592 |BH fuZ 58 56] 114 34.8| 79.2| | 667 | FE EAR 56 60| 116| 34.8 81.2
518 |E T K& 43 46 89| 10.8] 78.2| | 593 | UF 46 43 89| 9.6| 79.4]| | 668 |Hi@ FK 58 58| 116 34.8| 81.2
519 |E4 KAR 46 43 89| 10.8| 78.2| | 594 |ETF & 49 46 95| 15.6| 79.4| | 669 |A Fit 55 48| 103| 21.6| 81.4

0 |f=HH 49 46 95| 16.8| 78.2| | 595 |EFk ¥ 45 50 95| 15.6| 79.4| ] 670 |BHE R 55 48| 103| 21.6| 81.4
521 [3fR % H 50 45 95| 16.8] 78.2] | 596 | 42 R 49 46 95| 15.6| 79.4| | 671 [JIIR & 60 49| 109| 27.6| 81.4
522 | IE— 47 48 o5| 16.8] 78.2| | 597 |FRiA Fth 47 48 95| 15.6] 79.4| | 672 |1LA E5A 56 53| 109 27.6| 81.4
523 [T MR 48 47 95| 16.8] 78.2| | 598 |Huili Fofd 52 49 101| 21.6| 79.4| | 673 [FF FE 53 56| 109 27.6| 81.4
524 |/ TEA 51 44 05| 16.8] 78.2| | 599 |#AAk BIE 54 47 101| 21.8] 79.4| | 674 | EBR EEAA 48 48 96| 14.4| 81.6
525 |3 IEEZ 47 48 95| 16.8] 78.2 | PONPERYAL= 52 49| 101 21.6| 79.4| | 675 |EiR FHA 58 44| 102| 20.4| 81.6

BELm—L [OUT L 3 4 5 7 8] [IN 10 11 12 14 16 18]
BEHFE] WRUTHR ~T4 = IV bvs IR
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MERZ] K A& OUT] I N |ZuA| L. P [ xvb | PERL] XK 4 OUT] I N [ZaX| H. P [ xvk
676 PR FHT 55 47| 102 20.4] s1.6| | 751 |ERE EE 73 54| 127 40| 87.0
677 |B A% 59 55 114 32.4| 816 | 752 |HE KE 59 63| 122| 34.8| 87.2
678 | B B 56 58] 114 32.4| 81.6| | 753 [tEix — 57 64| 121| 33.6| 87.4
679 |FEdh 5 54 53| 107| 25.2| 81.8 754 |&18 FzE 44 56| 100 12| 88.0
680 | 212 1 52 55 107 25.2| 81.8| | 755 |FH %A 61 57| 118 30| 88.0
681 |fEA< Jedit 57 50l 107 25.2] 81.8] | 756 |/NEE =R 64 54| 118 30| 88.0
682 | & dh 47 60| 107| 25.2| 81.8] | 757 | BE 64 53| 117| 28.8| 88.2
683 |84 #H 52 55| 107 25.2| 81.8| | 758 |{fE —1& 64 52| 116| 27.6| 88.4
684 |Jkif FEiE 59 54| 113 31.2| 81.8] | 759 |F L HEZ 64 57| 121| 32.4| 88.6
685 |BF O #A3C 53 go| 113 31.2| 81.8 60! | P AN 61 57| 118| 28.8| 89.2
686 | =B 62 571 119 37.2| 81.8| | 761 |FEEE 71 53| 124| 34.8] 89.2
687 |IUT #& 56 56| 112 30| 82.0| | 762 |k B— 59 62| 121 31.2| 89.8
688 | &K 59 53| 112 30| 82.0) | 763 |#adk A% 55 72| 127| 37.2| 89.8
689 |4 4 55 57| 112 30 82.0 | | 764 |fAK fith 64 53| 117 26.4] 90.6
690 |NEE £ 52 53] 105 22.8| 82.2] | 765 |SRiE FEHE 66 54| 120| 28.8] 91.2
691 |+ FEE 56 61 117 34.8| 82.2| | 766 |EHL FEA 68 59| 127| 34.8 92.2
692 |ILM FE 52 46 98| 15.6| 82.4| | 767 |FE fufn 67 62| 129 36| 93.0
693 |k 2z 45 53 o8| 15.6| 82.4| | 768 |FH L FnE 70 63| 133 40| 93.0
694 [JIIE 7 50 54 104 21.6] 82.4]| | 769 |BKR Wi 62 71| 133 40[ 93.0
695 |A1)Il #hil 54 50 104 21.6] 82.4| | 770 |dbgk BiEE 60 71| 131| 37.2| 93.8
696 |FH CF 56 48] 104| 21.8] 82.4| | 771 [AK B 64 70| 134 40| 94.0
697 | & Bt 55 55/  110| 27.6] 82.4| | 772 (W) & 64 71| 135 40| 95.0
698 |)Il@ —RR 55 55| 110 27.6| 82.4| | 773 |F #aFn 58 74 132 36| 96.0
699 |EiE £ 69 53] 122 39.6| 82.4| | 774 |MhE E— 73 63| 136 40| 96.0
00| HE LR 48 43 o1 8.4| 82.6| | 775 |FHE T 63 73| 136 40| 96.0
701 [/hNG BL3E 50 53]  103| 20.4| 82.6| | 776 |#R 5= 73 64| 137 40 97.0
702 | 7E IERK 51 58| 109 26.4| 82.6 BB |35 B 5t 69 70| 139 40| 99.0
703 R HEHE 61 54 115] 32.4| s2.6| | 778 (BN EEF 80 83| 163 40| 123.0
704 |FEE ¥ 60 61| 121 38.4| 82.6
705 |FiE ATF 57 64| 121 38.4| 82.6
706 |1# pAst 49 53| 102| 19.2| 82.8
707 |5eRE 4 48 53| 101 18| 83.0
708 [ FH 53 54| 107 24| 83.0
709 |7k FlE 53 60| 113 30| 83.0
710 |Fo@E X5B 61 58| 119 36| 83.0
711 |/ A 53 471 100| 16.8| 83.2
712 | B 48 58| 106| 22.8| 83.2
713 |PE[A #iF 60 57| 117 33.6] 83.4
714 |FR =T 58 58| 116 32.4| 83.6
715 |EE BB 57 59| 116 32.4| 83.6
716 |k EiE 55 48| 103| 19.2| 83.8
717 |fal EBE 55 48| 103| 19.2| 83.8
718 |f@H 3 60 49| 109 25.2| 83.8
719 |7 R B4 58 57| 115 31.2| 83.8

0/ |FE #aFn 55 60| 115| 31.2| 83.8
721 |BR FEX 55 60| 115 31.2| 83.8
722 |[E B BT 60 61| 121| 37.2| 83.8
723 |1ER B 64 56| 120 36| 84.0
724 | ¥s 66 58| 124 40| 84.0
725 | — & 44 45 89| 4.8| 84.2
726 |#AR FiR 48 53| 101 16.8| 84.2
727 |ILA 3= 58 61| 119 34.8] 84.2
728 |[ta RE 48 46 94| 9.6] 84.4
729 |EE EC 52 60| 112 27.6| 84.4
730 |E B BT 59 53| 112] 27.6| 84.4
731 |ART RKER 62 56| 118 33.6] 844
732 |KA ML 49 56| 105 20.4| 84.6
733 [{BA HF 61 62| 123 38.4| 84.6
734 |BRAJI 51 59| 110 25.2| 84.8
735 |E/R A 64 58| 122| 37.2| 84.8
736 [fAK A= 48 49 97 12| 85.0
737 A Ak 59 50| 109 24| 85.0
738 |&)I &7 58 51| 109 24| 85.0
739 (7)1 X 63 58| 121 36| 85.0

40 |PE3E & 58 63 121 36| 85.0
741 |BER E— 63 62| 125 40| 85.0
742 [BKE 25 60 60| 120 34.8| 85.2
743 [ b TIE 51 56| 107| 21.6| 85.4
744 [BER E=HRR 58 55| 113| 27.6| 85.4
745 |/E S5F0 60 64| 124 38.4| 85.6
746 |FEHE BAETF 59 54| 113| 26.4| 86.6
747 | K7 EiE 56 57| 113 26.4| 86.6
748 |FEE f$E 59 58] 117 30| 87.0
749 |FHE E1T 60 63| 123 36| 87.0

0 |7k 4AE 59 64| 123 36| 87.0
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